Do this on your own paper so that you can adjust the spacing to fit your responses. Create a three
column table like below. Please include the area statement.

When answering the “Rationale,” be detailed and precise with your response.

Character Question | Character Answer Rationale

Two play characters that are ...because
most similar are...

Two play characters that are ...because
opposites are...

One play character that | find ...because
the most bothersome is...

One play character that | enjoy ...because
the most is...
One play character that | find to ...because

be most like me is...

One cartoon character recast ...because
that | find to be clever is...

Another cartoon character ...because
recast that | find to be clever
is...

One cartoon character that | do ...because
not understand is...




